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ENGLISH VERSION

Instructions : (1) Marks are indicated on right side.

1 (a)

(b)

©

(b)

(©)

(b)

©

(b)

(2) Statistical table will be provided on request.

Explaining Geometric distribution. State properties
and uses of it.
There are 20 balls in a box from them 15 are blue
and 5 are red. A lot of 10 balls are drawing at
random. Find the probability of drawing 6 blue balls
in the lot.
There are 6 bulbs in a box. From them 3 are
defective. If 2 bulbs are taken randomly find the
probability that atleast one is defective.

OR
Write short note on negative binomial distribution
and state the properties of it.
A pair of dice is being thrown repeatedly. Find the
probabilities of getting a sum of 7 for the first time
in a (1) 2 throws (i1) 3 throws (i11) 4 throws.
If for a geometric distribution the probability of
success in 2/3 than find P(0) and variance.

Write short note on normal distribution and also
explain the area under the normal curve.
In a normal distribution mean = 120 and S. D. = 40
than find P(x <150/ x >120).
An unbaised coin is tossed 10 times. Find the
probability of
(1) not getting any head
(1) at least 3 heads.

OR
State properties and used of Hyper Geometric
Distribution.
An urn contain 14 balls out of them 4 balls are red.
Five balls are drawn at random without replacement.
Find the probability that exactly two red balls are
drawn.
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Compute the following question in short : 5

(1) In normal distribution Q = 20.7, Q3 = 39.3. Find
mean, median, mode.

(1) If mean deviation of normal distribution is 2. Find
its variance.

3 (a) Explaining "Theory of Runs" discuss the causes of 10
variation in production process.
(b) Explain the difference between character for variances 5
and charts for attributes.
OR
3 (a) Draw X and R chart from the following data. Write 10
the remark on production process.
Sample | 1 |2 |3 (4|56 |7 (89 ]10
X 20 |34 (15139 (26 (2913|3437 |23
R 2313914 (5 120117 |21 |11 40|10
(Ag = 0.58, D3 = 0, D, = 2.11)
(b) For the following data draw C chart and state your 5
conclusion about production process.
No. of defects : 12, 6, 18, 4, 5, 9, 4, 1, 12, 14, 8, 11,
14, 21, 21, 10, 12, 9, 13, 10.
4  Explain : 15
(1) The producer's risk and consumer's risk
(1) AOQ, ASN, ATI
(1) O.C. Curve.
OR
4 (a) Prepare ASN, ATI, AOQ curve for single sampling 10
plan where.
N = 2000, n = 100 C = 2
() For single sampling plan (500, 50, 1) where Pl = 2% 5

than find the value of ATI e~ = 0.368.
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